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3 Given: LA=/B
: LB=/[C
Prove: LA=/[C
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%4 Given: DE

Conclusion: DF =DG
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25 Given: (1 is comp. to L 2,
. L4 is comp. to [ 3:
Prove: [1=/4 :
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‘A certain angle is 30° less than 4 times 10 X = ’ {(’ 0 A_ 2
‘its complement. Find its s_upplement. : ; | Lfl

X =360 -Hx
T problems 17-21 draw a conclusion
4nd state the reason.

17 Given: PSLS

Pan) ‘e (= 3 .
17 Conclusion: - K(‘) N 5 {2 i ,

Reason: Del— L
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" 18 Given: BD bisects AC. 18 Conclusion: L& —
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Reason: Dol bice ok .
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19 Conclusmn ( B ¢ Ec Trise < , e
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. ~B +—C.
20 Gi_{zen: [ AEC = [BED
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20 Conclusmn Z\ \( (’ 'A* X D
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- 21 *Given: AB =BC
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21 Conclusion: Al = CD .
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